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#include <stdio.h> CDTATSLDEIE:
o ImkKIZlinput x=J&ERTEIND
main() o F—AR—RFHSHIEEA S
{ o HEAIELSEx = *** is
INt X; non-negative | TR RSN SD
printf(“input x =%); o HUEBMNBASENX = *** js
scanf(“%d”, & X); negative RTINS
if (x >=0) {

}

printf(“x = %d Is non-negative¥n”, X);

} else {

printf(“x = %d Is negative¥n”, X);

}
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[z < 0J(z [ O ki)

[x ==y (x [& y IZZFLLY)
[x 1= 0] (x & O [ZFLLGELY)

if (x >=0) {
Printf{*x = %d is non-negative¥n”, x);
} else {
printf(“x = %d Is negative¥n”, X);
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#include <stdio.h>
main()
{ -
Int a, b, ¢, max; if (b > max) {
scanf(“%d”, & a); max = b;
scanf(“%d”, & b); }
scanf(“%d”, & c); if (c > max) {
maXx = a, max = C;
+
printf(“maximum = %d¥n”, max);
+
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#include <stdio.h>
ADMNZEE a, b, c, max Z#(k

main()

1

Int a, b, ¢, max; " e e, o
scanf(“%d”, & a); HiEEF—FR—Fh AL,
scanf(“%d”, & b); E’i& alzAndg

scanf(“%d”, & c);
max = a;
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If (b > .
T = el %%E%li%bfo‘d‘)
by
if (c > max) { c DIENFEFroEALYKREL
max = c; PEEFYUEAUE cITT S
by
printf(“maximum = %d¥n”, max);
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#include <stdio.h> if (a>c) { ZEDWeb
Llc = Lc + 1; ’\\o_t)ctu X
main() } else{ /)'l\"?:,‘/l:l—F
{ La = La + 1; RIRETY
int a, b, c, La, Lb, Lc; 1 \_ y
scanf(“%d”, & a); if (b >c¢) {
scanf(“%od”, & b); lc = Lc + 1:
scanf(“%d”, & c); 1 else {
La=0; Lb =0; Lc = 0; Lb = Lb + 1:

if (a>Db) {
Lb =Lb + 1;
} else {

Lla =La + 1;

}

}
printf(“rank of A = %d¥n”, La+1);

printf(“rank of B = %d¥n”, Lb+1);
printf(*rank of C = %d¥n”, Lc+1);
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#include <stdio.h> La, Lb, Lc [¥ZFhZEh,

A, B, CF—LD
main() BTHZHAL-ODEHR
{

int a, b, c, La, Lb, Lc;
scanf("%d”, & a); EYIZAITHEOIZEYE
scanf(“%d”, & b);
scanf(“%d”, & c);
La = 0; Lb =0; Lc = 0;

if (a>b) { AEBD T ER
Lb = Lb + 1; BAAIT-5, AlT#LbE11Ex05
J else { AR ITT=5, BlT#Laz1E0T
Lla = La + 1;

}
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A&EC D it B
if (@a=>c){ CHEIT=5, BlFHLcE1iExbd
€= Lo == 1 ADE TS, BlFHLar 118107
} else {
La=La + 1; ‘
¥ BEC O %
om0t CHEITT=5, AITMLCELIEOT
oS BAVE -5, fI+HHLbE 118107
} else {
} moeT s SITH+1IN, EOF—LOD
printf(“rank of A = %d¥n”, La+1); PRI A

printf(“rank of B = %d¥n”, Lb+1);
printf(“*rank of C = %d¥n”, Lc+1);
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